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Addition Word Problems

66. There are 9 crayons in a box. Mom buys 6 more. How
many crayons are there now?

67. A dog has 7 puppies. Another dog has 8 puppies. How
many puppies are there in total?

68. A boy finds 10 seashells at the beach and collects 7 more.
How many seashells does he have in all?

69. Atrain has 14 passengers. 4 more get on at the next stop.
How many passengers are on the train now?

70. James has 8 toy cars. His friend gives him 9 more. How
many toy cars does he have altogether?
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